
1. All cultures are alike, is explained through: 

(i) Ethnocentrism (ii) Xenocentrism (iii) Cultural Relativism (iv) Out Group Behaviour 

Answer: (iii) 

2. ‘We the people of India……..’ can be associated with: 

(i) In-group (ii) Out-group (iii) Reference Group (iii) Primary group 

Answer: (i) 

3. In the savagery, what man does the first? 

(i) Thinks (ii) Acts (iii) Recreates (iv) Lectures 

Answer: (ii) 

4. Most of the policies confront more bottlenecks than facilitations, what is the major reason? 

(i) Poor bandwidth (ii) Insufficient resources (iii) Inapt understanding of cultural relativism (iv) 

None of these   

Answer: (iii)  

 

 


